PEGN 620A: Naturally Fractured Reservoir

Homework 9:Solution

Given Equations

Flow in fracture
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Discretize and rearrange Eq (3) we get
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Substitute P;‘jn}b into Eq (2) and rearrange
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Multiply Eq (1) by Vi, where V; = Ax;Ay;Az; and rearrange

Pressure—term Gravity—term
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Accumulation—term

Capillary—term
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Discretize Eq (5) for 1-D problem term by term and rearrange
e Pressure term
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o Accumulation term

aPo di SFTPtZZP

(¢Ct)

+1
Piop = Plog

At

Substitute Eq(4), (7), (9), (11) and (12) into Eq (5) and rearrange
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